I have no vertices. E

I have 1side. |
I have an infinite E
amount of lines of :

SQUARE
E E symmetry

: : . Ihave 4 vertices |
: : i 2of mysidesare
! ! ! longer than the other !
: : CIRCLE : 2. :
: E E I have 2 lines of E
E ! ; symmetry. !
! ! ' I have 4 right angles. !

I have 3 sides.
I have 3 vertices.
2 of my sides are
the same length.

I have 1 line of

symmetry.

EQUILATERAL
TRIANGLE

I have 4 vertices
I have 4 sides.
I have 4 right

angles.

I have 4 lines of

symmetry.

. RECTANGLE

I have 3 vertices.

E E I have 3 sides which
! IRREGULAR ' are all the same

PENTAGON length.
I have 3 lines of
symmetry.
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